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V8 < Vb

PELD,
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(8) T, 1.012=1.0201 £V
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LoT
1.01190 > 1,020

(1.02°)% > 1.10° = 1.610 - - - L1022 > 1.610

ZIT, V2=1414--- 05
V2 < 1.022°

MAIE7Z2 s, WMl%E 23 C
2 < 1.02°°
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2 < 1.02%° < 1.0119° (%)

[7] (1) 277 = 3%, % — 31 55,

3r=—1 o= — (&)
(2) G&D,
16 = 1024"
ZZT,

1610 = (24)" = 210 = 10247 = 210
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(3)2r=X B L
2X2 -8X -64=0 <= (X+4)(X-8)=0

X>04&0,
X =8
LT,
2" =38
Wz 12

(4) 3%:)( LBk,
3X? -10X +3=0 <= (BX-1)(X-3)=0

_ 1
= X_3,3

(5) 37 > 373 5 32(1-%)
Y1 LD RE s,
—r>-3>2(1—1x)
IhzefE e,

Sca<s (B

(6) 22 =X 2BE X>0T,
X?-2X <0 <= X(X-2)<0
DT,
0<X <2
LT,
0<2® <2t
JEDS 1T LD REVDPH,
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(M) 3*=XtBLE X>0 T,
9* — 372 5 3% _9
(3%)> —3%.3">3"—9
X2 _-9X>X-9
X2 -10X+9>0
(X -1)(X-9)>0
SL0<X <1, 9< X

LT,
0<3"<1, 9<3"

JEAS 1 LD REVHDS, KD DLREHPHIL
<0, 2<z (&)

8] (1) y=-3"21F -1 <21 ICBWTHFREA DT,

1
= ﬁ —
RKE -— o7 (x=—-1DEX)

2/MVE _% (z=1D&%)
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(1]

[2]

(3]

(1) log, 64 =log,2° =6 (&)
(2) logyn0.1 =log,, 107 = -1 (%)

(3) log 516 =log s (\/5)8 =8 (&)

3
4Lf l Zfi =®x
(4) logy /57 _log%<3> -5 &

(5) logg 128 = logg 8% = i (&)

3
7
<ZE > logg 128 = logys 27 = log,s (2°)% = % (&)
1 _z2 2
(6) log;os 25 — logy95 125 = 3 (&)
_2
<ZE> loggs 2—15 =logss 572 = logss (5%) ° = —% (&)

(7) log,b=c &£ B &,

al%®a? = q°=b (%)

(8) 8log23 — 93logy 3 _ 9log, 33 =33 =27 (%)

(1) logy 45 = log, (3% x 5) =logy 3% +logy 5 =2a+b (&)

(2) log, 0.6 = log, % =logy3 —logeb=a—b (&)

(3) 1og2% =logy(2 x5+ 3%) =logy 2 +logy 5 —log, 32 =1+ b — 2a
(4) 140, V276 < 3 1, (2)%)
o =1lo 31 x(2x3)2 + (=
g2 \3/0—4 g2 ( ) 5
31 o111
:10g2(34><22><32><53><2 a)

= log, (2% x 3% ><5%)

= log, 25 + log, 34 + log, 5%
1 5 1
6 2% &)

(1) (530) =logg(3 x 12) =logg 62 =2 (&)
(2) (5) =log5(10+2) =logs5=1 (&)
(3) (5%) = logy, (4+ 5 x (@)2) —logp 102 =2 (&)

(4) (53%) = log, (\/% X 12 + 21%) =log,1=0 (&)
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() (5:5%) = logy 5 <% . (%)2 . 2_96>

1)7? -
= logy.5 4 = logg 5 2° = logg 5 (5) = logg50.57°
-2 (&)

(6) \/2+\/§_\/2_\/§: \/4\—;52\/5 B \/4\;52\/3
(VB+1) - (V3-1) 2
V2 V2 v2

L o7,
(55 = 1og\/§\/§= 1 (%)

[4] (1) (’é—iﬁ)_ log,, 27 . logp8  3logy3 . 3log, 2 _ 9 (f§)

logp4  log;,9 2logp2 2log;y3 4

(2) (’é‘ﬁ) _ loglo 7 + 2 loglo 7 . loglo 7

logyo 2 log; 4 logyo V2
logp7 | 2logyg7  logyy7
log( 2 21log;( 2

% log,, 2
log1y7 | logy7  2logy o7

logp2 ~ logy2 logy 2
=0 (%)
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. logy 7 2logy 7 logy 7
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( ) 1Og2 2 1Og2 4 10g2 \/5

logy 7 2logy 7 logy 7

log, 2 2log, 2

% log, 2
~ log, 7 + logy 7 2logy 7
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1 1 1 0 (%)

(3) log, b x log, ¢ <— log, b x Ei“ Z ) =log,c FHL T,

(5-3X) = logs 2 - logy 9 — logs 2 - log, 3 — loggy 2 - logs 9 + logg 2 - log, 3
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=2-=-1 ==
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[5] (1) E% 2122525k

~ log, 05  log, 27! 1
0g5 0.5 = logy3  logy3 log, 3
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~ log, 05 log,27t
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Z 2T,
(logy2 =) 1 < log, 3
£y
1 1
1> log, 3 (>0) 1 log, 3
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1 1
logy 3 (<0) < logy 5 2
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1 1
=< log, 3 log, 5
XoT
log, 0.5 < logz 0.5 < log, , 0.5 (&)
(2) K% 2122522 L
1 =log, 2
~logy2 1
logs 2 = log, 3 logy3
_ logy 2 1 _ 1
logg 2 = log, 6 logy,2+1logy3  1+logy3
nky
1 <log, 3
Zho
1 1
1+log, 3 < log, 3 <1<log,3
logg2 < logz2 < 1<log,3 (%)
(3) a>14&0,
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L7235 T, logya= 10ng &0, % <log,a <1
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@

$72, loga% =log,a—log,b=1—log, b 725, OLD,
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b
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b
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ThY, TNEOxATH5
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(2) IROFEMELD,
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(3) BEBSEMHLDY,
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(4) BESEMLD,
t—1>0, 2+5>0

LT,
I’>1 ...@
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logy(x +5) = %4) = ElogQ(x+5)
Zhb, G

logy(x —1) = %10g2($ +5) <= 2logy(z—1)=logy(z+5)
<= logy(z — 1) = logy(x + 5)

£o7T,
(-1 =245 <= 2*-2r+1=2+5
— 27 -3r-4=0
— (z—4)(z+1)=0
: r=4, —1
S RAORY)
z=4 (%)
(5) BHE&EMLY
x>0, 2+2>0
XoT, >0 ---©
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L7235 T
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LoT
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(4) 2% — 8z 46 =0 DX
r=4+10
b, BEESEMLDY
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logy 4
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21og, (22 — 1) > logy (2 — 8z + 6)
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JRIZ1 LD REWVDH
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